Nerf Bar/Step Kit

Yamaha Drive

truct m |
\p!
Q0
LCP
A
v)
A0 F Srvg ey T;?'B




Parts List

&N : A,
|2 J N
Mounting brackets (2) Nerf Bars or Steps (2)
Kit Contains Nerf bars or Steps
not both
Bolts
5/16"x 1" 5/16"Nyloc Nut  5/16"Washer 3/8"Washer 3/8" Nyloc Nut 2 1/4"x4" 2 1/4"x3"

3/8" U-Bolt 3/8" U-Bolt

(10) (10) (10) (8) (8)
I © © © © &4 r

*Parts not shown in proportion.



— X >N

Yamaha Drive Nerf Bar/ Step Installation

1. Install 2 1/4"x 4%, 3/8”" ubolt over frame in front of cart.

2. Install 2 1/4"x 3", 3/8” ubolt over support from frame in rear.

3. Hold mounting bracket in place and attach to u-bolts with 3/8” washers and nylock nuts. (Tighten these before next step)
4. Drill 5/16" hole in plastic floor brace(honeycombing) and connect bracket with 5/16"x 1" bolt fastening with 5/16” washer
and nylock nut.

5. Repeat for other side of cart

Parts are not shown in proportion



Yamaha Drive Nerf Bar Installation

F >
R
O
N
N
o T
F 00
C :: 00 &/ /" _ 09 ;
A 0
R > 00
R
1. Bolt nerf bar in place to the bracket using (4) 5/16"x1” Bolts, (4) 5/16" washers,
and (4) 5/16" nylock nuts.
2. Repeat for other side.
Yamaha Drive Step Installation
O§

F ad

R

o

N

N

4 ; _, 08 ‘

c v - 00 e 00 e

/; 00 / \

T g /

1. Bolt the steps in place to the bracket using (4) 5/16"x1” Bolts, (4) 5/16” washers,
and (4) 5/16" nylock nuts.

2. Repeat for other side.
Parts are not shown in proportion



	cover
	1
	page2
	3a

